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Directions: In each of the following question, Two words indicated by | & Il have been left out.
You have to find the correct word to come in place of | is given as one of the four alternatives
(1), (2), (3), and (4) against | and the correct word to come in place of Il is given as one four
alternatives from (A), (B), (C), and (D) against Il. Read with the correct words, there is some
relationship between the two words to the left of (: ;) and the same relationship obtains
between the two words to the right of the (: :). The correct combination is given as one of the
four alternatives (a), (b), (c), and (d). You have to find the correct combinations in each case

Q1. | : Constitution : : Prologue : Il

l. || (1) Independence || (2) Law || (3) Preamble | (4) Amendment
. || (A) Eulogy (B) Write | (C) Play (D) Epilogue
a) 3A
b) 4D
c) 4A
d) 1D
Q2.1: Never::All:l
I. | (1) Always || (2) Usually | (3) Seldom | (4) Often
I. | (A) None || (B) Whole | (C) Every | (D) Total
a) 4A
b) 2B
c) 1A
d) 4D
Q3. | : Pacifist : : Religion : I

’I. ’(1) War ’(2) Atlantis || (3) Object | (4) Conscience
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]u. ](A) Devout’ (B) Sacred | (C) Atheist | (D) Minister

a) 4A
b) 4B
c) 1C
d) 4C

Q4.1:Lungs::Il: Nut

(1) Respiration

(2) Air

(3) Ribs

(4) Breathe

(A) Eat

(B) Shell

(C) Almond

(D) Oil

a) 4C
b) 3B
c) 2D
d) 1A
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Q5.1:Rain::Dam: Il

(1) Cloud

(2) Fog

(3) Water

(4) Umbrella

(A) Electricity

(B) Flood

(C) High

(D) Spillway

a) 1A
b) 4B
c) 1B
d) 3B

Q6. | : Bird : : Shedding : II

’I. ’(1) Calling ’ (2) Flying ’ (3) Migrating | (4) Mounting
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’II. ’(A) Barn ’ (B) Dog ’ (C) Hay (D) Farm
a) 2A
b) 2C
c) 4D
d) 4A
Q7.1: Melt: : Bright: Il
[. || (1) Liquid | (2) Ice (3) Heat || (4) Freeze
. || (A) Dull (B) Dazzle | (C) Light || (D) Colour
a) 4A
b) 1D
c) 2C
d) 3B
Q8. Explosion : | : : Locust : Il
l. | (1) Bomb || (2) Ruin (3) Debris | (4) Smoke
II. | (A) Crop | (B) Holocaust | (C) Pest (D) Field
a) 4A
b) 2C
c) 1A
d) 3B
Q9. 1: Ocean : : Stone : I
I. | (1) Glacier | (2) Lake (3) Continent | (4) River
. | (A) Rock (B) Pebble || (C) Granite (D) Mountain
a) 4B

b) 1C



c) 2A
d) 3D

Q10. Part:1::Class: Il

(2) Whole

(3) School

(4) Students

(B) School

(C) Teachers

(D) Rooms

I. | (1) Section
II. | (A) Student
a) 1C
b) 3A
c) 4D
d) 2B

Directions: The following each questions sentences has the first word and the last word left
out as (........ ). Choose the pair from among the five pairs of words that will fill the blanks so
that the sentences becomes true and sensible. Only one pair is correct, So pick that one.

Q11. .......... is to Difference as Add is to

a) Agreement - Increase
b) Change - Subtract

c) Same -More

d) Subtract - Total

e) Deduct - Decrease

Q12. ..........isto Second as Day is to

a) Minute - Friday
b) First - Light
c) First - Hour
d) Watch - Friday

e) Minute - Hour
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Q13. .......... Is to Race as Slowisto ..........
a) Gallop - Fast
b) Run - Fast
c) Rapid - Stroll
d) Pace - Late
e) Rapid - Stop
Q14. .......... Is to Animal as Rind is to ..........
a) Man - Hard
b) Skin - Melon

c) Husk - Melon

d) Husk - Nut
e) Skin - Nut
Q15. .......... isto Land as Navy isto ..........

a) Ship - Infantry
b) Arrive - Depart
c) Marine - Air

d) Ground - Sea

e) Army - Sea
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Q1. Answer: (a)

First is the introductory part of the second one.

Q2. Answer: (c)

The word pair is made by its Antonyms.

Q3. Answer: (c)

Second is the name given to the one who condemns the First.
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Q4. Answer: (b)

First is a Protective covering to the Second one.

Q5. Answer: (b)
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First is mainly used to protect from the Second.

Q6. Answer: (c)

Birds used to moult themselves for shed its feathers. Similarly Farms will undergo shedding
of leaves to start a fresh growth

Q7. Answer: (a)

The word pair is made by its Antonyms.

Q8. Answer: (d)

When action is performed by the First, then the Second will be the result.

Q9. Answer: (c)

Enlarge the First to get the Second.

Q10. Answer: (d)

Words in each pair has Part & Whole relationship

Q11. Answer: (d)

By performing the operation denoted by the First which helps to obtain the Second one.

Q12. Answer: (e)

Seconds will make up to Minute & Hours make up to a Day



Q13. Answer: (c)

One runs rapidly in a race & walk slowly in a stroll

Q14. Answer: (b)

Second one is the covering layer of the First one.

Q15. Answer: (e)

First is the operating defence force over the Second one.
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